=&

EX31. EX32
Y ) Z . % ‘ z
\
I P
[T 1] [T+ 1]
I %T ]l
EX318! EX32%Y
& | mm T{eEER | FHLER | mm 12 /125 T V| mm w Y z #95 | kg
NFRER SCRRIME Mpa K =X HAg #=  mm | EX31 EX32 | mm  mm | mm | EX31 | EX32
65 x 25 [76.1 x 33.7 2.5 381 | 413 | m10x55 | 2 46 - 63 | 45 | 128 | 64 - 0.6
32 42.4 2.5 445 | 476 | mioxss | 2 47 - 65 | 45 | 128 | 70 - 0.7
40 48.3 2.5 50.8 | 54.0 | M10x55 | 2 47 - 65 | 45 | 128 | 76 - 0.7
80 x 25 [889 x 337 2.5 381 | 413 | M10x55 | 2 53 . 69 | 51 | 142 | 65 . 0.7
32 42.4 2.5 445 | 476 | mioxs5 | 2 53 2 71 | 51 | 142 | 72 2 0.7
40 48.3 2.5 50.8 | 54.0 | M10x55 | 2 53 . 72 | 51 | 142 | 77 . 0.8
50 60.3 2.5 63.5 | 66.7 | M10x55 | 2 53 . 75 | 51 | 142 | 89 . 0.9
100 x 25 |114.3 x 33.7 2.5 381 | 413 | m12x65 | 2 66 - 80 | 64 | 172 | 65 - 0.9
32 424 2.5 445 | 476 | M12x65 | 2 66 - 84 | 64 | 172 | 72 - 1.0
40 48.3 2.5 50.8 | 54.0 | Mi12x65 | 2 66 - 84 | 64 | 172 | 79 - 1.0
50 60.3 2.5 63.5 | 66.7 | M12x65 | 2 66 - 86 | 64 | 172 | 91 - 1.1
65 76.1 2.5 69.9 | 73.0 | mi2x65 | 2 66 | 95 | 91 | 64 | 172 | 97 | 1.3 | 13
150 x 25 |[165.1 x 33.7 2.5 381 | 413 | mM14x75 | 2 93 . 108 | 91 | 233 | 65 - 1.5
32 424 2.5 445 | 476 | M1ax75 | 2 93 . 111 | 91 | 233 | 73 . 1.5
40 48.3 2.5 50.8 | 54.0 | M14x75 | 2 93 2 111 | 91 | 233 | 80 2 1.6
50 60.3 2.5 63.5 | 66.7 | M14x75 | 2 93 . 113 | 91 | 233 | 93 . 1.6
65 76.1 2.5 69.9 | 73.0 | mMiax75 | 2 93 | 120 | 117 | 91 | 233 | 99 | 1.8 | 18

- I GIES WAZ-1022'5 23R,

STEME | mm HERKE | m REFE | Kv
RIFER SEhRIME AHEsZH | EX31 PIREZO | EX32 | i@iEsZO | EX31 PRESZ | EX32
25 33.7 - 1.6 - 300
32 42.4 - 1.1 - 700
40 48.3 - 28 - 765
50 60.3 - 23 - 1500
65 76.1 3.8 4.3 2320 2170

« FE AL /min
< NEKESET U3/, ATRIELE, - R Hc=120

www.visioninc.cn | 05



